
2. Angles and Plane figures 
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4. aA
2
 = b
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 – 2bc cos A 
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9.  Let the ex < be x
0      
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 In < 8x
0       

n
 
= No. of sides 

         n – 2  180 = 8  360   M1M1 

 x + 8x = 180…………..    M1    n                    n  

 x = 20         n = 18 sides  A1 
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12. 360
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 = 18
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13. (a) 

 
Sketch 

(b) i) 

h  = tan25
0
  h = x tan 25 

x 

h = tan18
0
  h = tan 18(x + 70) 

x+70 

Equating the two equations 

x tan 25
0
 = x tan 18

0
 + 70 tan 18

0
 

x(tan 25 tan 18
0
) = 70 tan 18

0
 

x = 70 tan 18
0
 

      tan25
0
 – tan18

0
 

x = 22.744 = 160.8 

      0.1414 

h = 160.8tan 25 = 75m 

(c) Distance of A to the front of post 

= x + 70 

= 160.8 + 70 

= 230.8m 
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